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Bellwork
Simplify

1.  √108 2.  ­3∛5 + 7∛5

3.  ­2√2(2√3 + 4√6 )
4. √5

3√12

Is the conjecture  true for all numbers x?
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Same exponent rules, but this time with 
rational exponents (fractions/decimals).

am   an = am+n

3
4

=
.52 25∛

3
25 =

(am)n = am n

=(3  )  =5 2 2/
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(ab)m   =  ambm 

(16  9) .5

a­m =         , a = 01
am

36 =
­1
2
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Product Property of Radicals

√a  b  =  √a    √bn n n

∛12    ∛18 =

a
b

n a
b

√
√n
n

=

∜80

∜5
=
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Simplify:

*Factor out 5th powers
*make denominator a 

perfect cube

Simplify:
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Simplify:

Simplify:

=
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True or False?

Write each expression in radical form.
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Write each expression in exponential form.

Assignment:  Rational Exponent WS
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